Precalculus Sequences & Series Test Practice Name

Sequence Formulas: a,=a; +d(n-1) a =a -r
n —r" a
Series Formulas: Sp == (a, +ay) S = ad-r) S, =—01
2 n 1-r 1-—r

Determine if the sequence is arithmetic or geometric. Find the common difference or the
common ratio and write the equation for the nth term.

1) 35,32, 29,26, ... dorr= a, =

2) 6,18,54 ... dorr= a, =

Given the explicit formula for the sequence, find the first five terms and the named term in
the problem.
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3) a.n =§+§(n—l) , ’ ’ ’ a23 -
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4) an = 3 ] y ’ y a18 =

Given the first term and the common difference of an arithmetic sequence find the first five
terms and the explicit formula.

5) 8, =28, d =10 , , , ,
a. =

n

Given the first term and the common ratio of a geometric sequence find the first five terms
and the explicit formula.

6) =1 r=2 , , , ,
a =

n




Find the first five terms using the given recursive formula

a,=-1

" a.,=@)+9 ’ ’ ’ ’

Given two non-consecutive terms, find a;, the common difference, and the explicit formula.

8) a9:_5,a15:31 d; = d:

Given two non-consecutive terms, find a;, the common ratio, and the explicit formula.

9) a, = —192,a, = 12,288 a = r=

Expand and evaluate each series.

0 > (n-3)° ) nZ:1:2(.5)”—1

n=3

Evaluate each arithmetic series using a sum formula. (Find the partial sum)
15
4n
12) nz_ll( ) 13) 20+27+34+41...,n=16

Evaluate each geometric series using a sum formula. (Find the partial sum)

31
n-1
22(1'2) 15) 3+-6+-12+-24...,n=9
14) n=1



16) Decide which infinite geometric series has a sum.

a. %-1+2-4+.. b. 64+48+36+27+ ...

. —+—+1414.. d. 16—-20+25-21.25+...
24 12 6 3

Evaluate the infinite geometric series, if possible.
225
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Solve the given problems.

19) An auditorium contains 10 seats in the first row, 12 seats in the second, 14 in the
third, and so on. How many seats are in the back row if there are 50 rows in the
auditorium? How many total seats are in the auditorium?

20) Ben started a job that paid $40,000 a year. Each year after the first, his salary was
increased by 4%. What was Ben’s salary in his 8" year of employment? What is the
total amount that Ben earned in eight years?

21) A shoe store is closing and wants to sell off its shoes. At the start of the week, the
price of all shoes is reduced by 10% of the current price. If a pair of shoes costs $100
during the first week of the sale, determine the price of those shoes during the 6"
week of the sale.

22) A tennis ball is dropped from a height of 150 meters. It rebounds to % the distance
from which it fell. How high does it go on its 10" bounce?



